[SMCHaD ZE_C14f ] casbee—bd_nc_2016v3_231031 .xIsx Aa7

CASBEE-%2 (37 %5%)2016 5 hix

WiEAFEv=27 )L CASBEE-EE5 (3 %)20165E /R

(RH) HORE > RG> 5—HE C1I FELE [ |mcsmmsraasorzRA miEEyor CASBEE-BD_NC_2016(v3.0)
ARA7—h
EEEIEHE RIBRESHOMERAR I A EH | g T ==
Q BEYMORELE ]
Q1 EREIT 0.40 P 3.9
1 BRI 4.2 0.15 . 4.2
1.1 ERESLAL EFEENC-40 4.0 0.40 =
1.2 BEE 5.0 0.40 s
1 |BOSRES EaE B O AR A T-2 50 | 0.60 -
2 |RENEEMRE Dr=50 5.0 0.40 5
3 |REESMHE(BEFHER) - -
4 |REKESMHE(EEEHER - 2
1.3 E 3.0 0.20 =
2 RERIE 3.4 0.35 5 3.4
2.1 ERHfHE 3.3 0.50 =
1 |=ER 3.0 0.38 s
2 | EMERE 3.0 0.25 =
3 |V Rl RYA—B-ATYT J—= 5  4EXAHU, SRR 40 0.38 s
2.2 JREHE 3.0 0.20 =
2.3 ERAR PRIR 2258 4.0 0.30 .
3 K-RRE 43 0.25 = 4.3
3.1 BXFIA 3.4 0.30 =
1 |BiE 3.0 0.60 =
2 |[AfrRIBEO - .
3 [BAFIARME NAH ARSI R 4.0 0.40 s
32 JL7HR%K 5.0 0.30 s
[ 1 [Bsim BEHIEI SR 5.0 1.00 R
3.3 B 500Ix 4.0 0.15 s
3.4 EREAHHE R3S 49— 5.0 0.25 s
4 TRERE 4.2 0.25 5 4.2
41 FBERXE 4.0 0.50 =
[ [e=zsena Fofe ¥ Yo Y DEEH £ (70%) 4.0 1.00 2
42 @& 4.0 0.30 =
1 |B5=E hREBHRDERBMEEME. 30m/hA 40 0.33 .
2 |BERBKMERE 3.0 0.33 =
3 [mMYANSNS~DEE BEHKEERS . ho6mE 5.0 0.33 R
43 EFAEHE 5.0 0.20 =
1 [co,mEFR hREFTOEBER. EEI=27ILOEH 5.0 0.50 s
2 |ErEQHI SERE 50 | 0.50 =
Q2 Y—ERMEEE - 103 [ - | - 4.0
1 gkt 3.7 0.40 s 3.7
1.1 BEe-FELpg S 2.3 0.40 5
1 |IEE-IR#ATE 3.0 0.33 =
2 |SERHREERERG 3.0 0.33 5
3 |N\YFI)—EtE 1.0 0.33 =
1.2 DEM-REHE 5.0 0.30 5
1 |ESR-2E8 KHE:29mLlE 5.0 0.33 s
2 |YILyPaRR—R YLy A RR—A B MFBRR—RD6.3%. BEIIRFTHDRE 50 | 0.33 =
3 |REE N=RIZLHREDEFIRITERHEL TS 50 | 0.33 =
1.3 HBHER 4.5 0.30 s
1 |#iEEEIcEEL-&H OAZO7 . BT EROFEALRE 5.0 0.50 R
2 | IEAMEEDER BRAREICEKWMEERELIKRBENDRBREERGE 4.0 0.50 -
2 A EE 4.5 0.30 . 4.5
2.1 ME-RE-HE-Hik 5.0 0.50 5
1 |EHEDDHhIZ(E) BABUEZEHA1/261 RERLEKCEHONT50%EDOTWENE) | 5.0 0.80 -
2 |RE-FIE-HIRMESE REEBORA 50 | 0.20 -
2.2 & - OMAER 3.6 0.30 =
1 |SREMEOmAER 3.0 0.20 5
2 [SELEETFHOBIELERR 2.0 0.20 .
3 [EERELLTHOBEHFLERR |K: 21ILA—Uk(205) 5.0 0.10 -
4 |ZER|ELILOEFHERR |FEHIOETIC, SUSPAHILN=D LT JLERA 50 | 0.10 .
5 |- #ABKEEDEHVERR |ZREE BREARKEHEE (8)---D 5.0 0.20 -
6 |EERERFOFHFVLERR 3.0 0.20 =
24 {58 5.0 0.20 5
1 |ZR-BmaRE BMIFFEORMERS . REE. KEFOELEL TRt 50 | 0.20 =
2 |#aHEK-BARE BEYECTY—VBAEES R FEOHKBELRALE 5.0 0.20 2
3 |EREE FEHEAFKEH. UPSORELRE 5.0 0.20 N
4 |HE-REXESE B ZASEE 5.0 0.20 5
5 |@IE-1EREE S A2 —TILBIAH ., UHF-BS-CS, RvhD—4#sDUPSit | 5.0 0.20 R

1/2



[SMCHaD ZE_C14f ] casbee—bd_nc_2016v3_231031 .xIsx Aa7

3 RGHE-EHH 3.9 0.30 . 3.9
3.1 EnwLy 4.6 0.30 =
1 |BEEowLy B :3.9m 5.0 0.60 5
2 |ZEHoRK-BHS BEREHEK0.15 4.0 0.40 s
3.2 RIEQOWLY 3500\, mi 4.0 0.30 s
3.3 ERiEDEFHM 3.4 0.40 =
1 |ZEREREOEHM 3.0 0.20 5
2 |[MBHKEOEHHE 3.0 0.20 .
3 |BREBOFIHNE 0AZAT -7 =TI Sv) DA 50 | 0.10 -
4 |BIERBEOEFHMNE OAZAT7 - 7r—I ISy DR 5.0 0.10 =
5 |EiEHFOEFME 3.0 0.20 5
6 |I\VOTITRAR—ZADFEGR 3.0 0.20 =

Q3 ZESIRIE (BhA) - - - — 1030 | - 1} - 3.7
1 APBEQESLAIH B0 EMBEO I OIEE - S EAH DR E 20 | 030 5 4.0
2 FELA BEADRE BR~OELLBAAMICREL - R ETE 4.0 0.40 5 4.0
3 it -7 A-TA~DER 3.0 0.30 . 3.0

3.1 A~ DEE. REtEDR L 3.0 0.50 5
3.2 Bt NEHIREDR L 3.0 0.50 =

LR EFEWOBEE FERKE !

LR1 THRIL¥— = 0.40 = B = 4.1
1 Es RO BPI=0.87 4.3 0.20 S 4.3
2 BRIRILX—FIA NAF RS EER 4.0 0.10 . 4.0
3 R ATLDEELE [BEN[BEIm]:  0.70 4.0 0.50 5 4.0
4 hENER 45 0.20 . 45

EE&EELUSN DT 4.5 1.00 =

IR E=C0PZ) R EER/BEMS, BEHECOP - BEYATACOP - B s WTFERME [ 5.0 0.50 =

42 [EREERE EREEAHNEEGIEL. TRLF—EBBORIEEESR 40 | o050 -
EAEENFHE = =

41 [E=5y05 2 5

| 42 [EREBEKH - -

LR2 ER-TTU7IL _ 0.30 -4 - 4.1
1 K&EREHE 4.0 0.20 . 4.0

1.1 81K Hikav. BEIKRICINZ TAKEMBLZBFCERA 4.0 0.40 -
1.2 AKFIA-#EEKEOF A 4.0 0.60 .
1 [FKFBLRATLEAQOHE |[FKFAZELTLS 4.0 0.70 -
2 |HHKEFALRTLEADEE [RKEHRAKELTRLESEKIZHALTLS 4.0 0.30 i
2 FEEMEROERAREHIR 4.3 0.60 5 43
21 MEMEREDHIH TG IAIVTE. TYXERATT . BB FORALE | 5.0 0.10 =
22 BHEEEFAREOMGER 3.0 0.20 5
2.3 PAMBIZE TRV HAHMDER |HERFICEFREHER 50 | 0.20 -
2.4 BEMELSNZEITDVH AL OER|BENAGR (KH) . S EH | BREM 5.0 0.20 -
2.5 B L HZMOSEE SN KHM 2.0 0.10 =
2.6 S DBEFBAAIREER E~DRIEHA |LGSTIE. 0ATOT DORA 5.0 0.20 .
3 EEMESEMH O AR 3.7 0.20 = 3.7
3.1 AEMBEESELVMHEOER 70— FEEEMEZE TRV ORA 40 | 030 =
3.2 7Oy -,/\O @ EE 3.6 0.70 =
1 [ kH E-E 9 P 4.0 0.33 -
2 | F:aR| (MrEk ) R ERY RF L2 T+ —L (ODP=0, DWP=3) 4.0 0.33 i
_ 3 |5 30 | 033 -

LR3 Biitb 4t H1E — 0.30 - 0 - 3.4
1 MBRBERIE~NDEE BEI=0.70 4.0 0.33 . 4.0
2 HhigBIE~DRK 3.4 0.33 . 3.4

21 ASUEZFHLE NOxHEH BEA A AFS 1> D0%LLT 4.0 0.25 .
2.2 REBREELORE 3.0 0.50 =
2.3 thigi /> I75~D &I 3.7 0.25 5
1 |FKEEKBEER VEFFEELYZETBTESHELLTLVD 4.0 0.25 -
2 [JBKAEE & i 3.0 0.25 5
3 [zEewns BB DEHRIS CE BB OMRLE 4.0 0.25 B
4 |BEEWNIE G TIORMYIRAR—ZDFER . TSR HNBROHRELE 4.0 0.25 -
3 BARE~OERER 3.0 0.33 . 3.0
31 BE-RE-BEREOMKL 3.0 0.40 .
1 |BE 3.0 0.33 =
2 |IREh 3.0 0.33 5
3 |ER 3.0 0.33 =
32 RE.WE. AEREZOMH 3.0 0.40 5
1 [EBE0IMH 3.0 0.70 =
2 |REDF -
3 |HEEE M 3.0 0.30 =
3.3 XE DI 3.0 0.20 5
1 BABBARVERBHOILNRAIEADXE 3.0 0.70 -
2 BAODEMNERIZLDREHK (TLT) DK 3.0 0.30 -

2/2



